Nom : Période :

Additionner et soustraire les polynomes

A TRAVERS > EN BAS |
I (-12x2+ 3x - 9) + (13x2-5x - 3) I 3x2-2x+5) - (2x2-10x+7)
4, (-4x2+ 14x - 11) + (12x2— 6X + 5) 2. dx2-6x+4)—(4x2-8x-2)
50 (x2-Ax+2)+(2x2-2x +4) - (-13x + 6) 3+ 2x—-4)+ (14x2+5x - 9)
6, (5x2+4x)+(6x2—4)+ (10x2+ 5x + 2) 4, (1x2— 3x+7) - (-x2+6x—-9)
T 5x—94+3xY)—(x2-4x+4) 5.(5x24+30) - (2x+3)+(Bx2-10x - 3)
8. (7T+3x2-4x)+(15x - 3x2+9) 6. ((3x+4+2x3) + (19x2 + 14x-9)
0, (3—4x—12x2) - (-16x2- 3 - 5x) T (x2-3-x)—-(2x2+6) +(3x2+ 2x)
11 3+ 12x3—6x2— 2x) — (43— 6x2) + (14x + 6) O 3 +3x2-+2)+ (-3 +x2-3x-8)

12, (2x+ M4x3-71)—-(3x*-9x-1) 10, (12x3-4x2-2x-T7) - (11x3-4x2-3x - §)

13, (-4x3-3x2-4x +2) - (-5x3+9x2—4x + 1)




